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Autumn Test 5

Name ........................................................................ CIaSS ................................. Date ...............................
1 =20%0 2| 2=

O O
3 +08=1 q | 400+ 10=

o o

2

5 |36= 6 | 5= +~8

O O
7 | 60 % = 6000 8 | 893210 =

O O
9 = 2 of 18 10| 2x — 142

o &
1M1|8/6356 12| 27= >

O O
13 %+;_: 19 =700 — 524

O O
15 %4‘%: 16 %of40=

O O
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Autumn Test 5 (continued)

17 —4=5X5 18 | 73.4 + 100 =
2493
19| x 6 20| 417172
841
21 342 + 469 = 22 X 16 (2 marks)
23 =2328—79 24| 7062 — = 5183
25| 4131 = X 3 26 | 5358 + =2
683 Sk
27| 752684 + 379 + 58362 = 28 % 76 (2 marks)
~N
Total marks /30
J
How well did you do? + with correct place value | 21 | 23 | 27
Colour the numbers of the _ with zeros 14 | 24
quesﬂons you 901 correct. + or x by 10, 100 or 1000 41718118
Long x 22|28
Fractions 9 113]115(16
Missing numbers 3|56 |7 101121712425/ 26
+ 1315 (17 (21127
- 3 (1014 (23]24
X 1126189161719 |22](28
+ 4151719 (101N |[12(16(|18]20]|25]26

Arithmetic Practice Tests YEAR 6 © Rising Stars UK Ltd. 2015

25



